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Q-1. PHYSICS-CHOOSE THE CORRECT ANSWER FROM THE GIVEN OPTIONS.

(1) The electric field in a certain region is acting radially outward and is given by E = Ar. A charge contained in a sphere of
radius a centred at the origin of the field will be given by
[A] 4ne pAa® [B] Ae ga?
*
[c

(2) consider 3rd orbit of He* (Helium), using non—relativistic approach, the speed of electron in this orbit will be (given K
=9 x 10° constant, Z=2 and h (Planck's constant) = 6.6 x 10734 J=s)

4me oA’ [D] € Aa3

*

[A] 2.92 x 10°ms™1 (B8] 1.46 x 100ms™1

[C] 0.73 x 10°ms™! [D] 3x108ms™
(3) Two capacitors 3 u F and 4 u F, are individually charged across a 6 V battery. After being disconnected from the battery,

they are connected together with the negative plate of one attached to the positive plate of the other. What is the
final total energy stored
*

1.26 x 1074 ) [B] 2.57 x 1074}
[A]

[C] 1.26x107° [D] 2.57x107°

(4) The figure shows a logic circuit with two inputs A and B and the output C. The voltage wave forms across A, B and C
are as given. The logic circuit gate is

A !
B
o ___._tl b o b !5 ........
*
OR gate [B] NOR gate
(A]
[C] AND gate [D] NAND gate

(5) Charge Q is divided into two parts which are then kept some distance apart. The force between them will be
maximum, if the two parts are having the charge

*

(Al

E each [B] E and g
4 4

2
[C] g and 23_Q [D] None of these



(6) If an ideal gas changes from state 1 to state 2 as shown in figure, then the work done by the gas in the process will be

P
B
AAC
-~V
[A] positive [B] negative
*
[l zero [D] infinite

(7) The resistance of a bulb filament is 100 Q at a temperature of 100°C. If its temperature coefficient of resistance be
0.005 per °C, then its resistance will become 200 Q at a temperature

E3
[A] 500°C 300° C
[B]

[C] 200°C [D] 400°C

(8) A block is pushed momentarily on a horizontal surface with initial velocity v. If Ris the coefficient of sliding friction
between the block and surface, the block will come to rest after time (g = acceleration due to gravity)

Al = * vg
ug [B] ¢
[c] = [D] 4
g 1

(9) A steel ring of radius r and cross—sectional area A is fitted on to a wooden disc of radius R (R > r). If Young's modulus of
the steel is Y, then the force with which the steel ring is expanded is

[A] _AY B] YE-7)
(R—7) r
[c] AY(R—7) * AY(R-1)
R [D] T

(10) The density of a metal at normal pressure is p . Its density when it is subjected to an excess pressure pis p '. If B is the
bulk modulus of the metal, then the ratiop '/p is

[A] 1+p/B [B] 1+B/p
€ __*t *
(1-B/p) [D] (1—p/B)
(11) In insulators (CB is Conduction Band and VB is Valence B and)
[A] VB is partially filled with electrons [B] CBis partially filled with electrons
[*C] CB is empty and VB is filled with electrons [D] CBis filled with electrons and VB is empty

(12) To get output 1 for the following circuit, the correct choice for the input is

L )r

C

[A] A=0,B=0,C=0 [B] A=1,B=1,C=0

*
A=1,B=0,C=| [D] A=0,B=1,C=0
[c]



(13) Two cylinders A and B fitted with pistons contain equal amounts of an ideal diatomic gas at 300 K. Piston A is free to
move and piston of B is fixed .Same amount of heat is given to the gases in the two cylinders. Temperature of the gas
in the cylinder A increases by 30 K. Then, increase in temperatures of the gas in the cylinder B is (y = 1.4 for diatomic

gas)
[A] 24 K [B] 36K

54 K " ak
[C] D]

(14) Assertion The resolving power of a telescope is more, if the diameter of the objective lens is more. Reason Objective

lens of large diameter collects more light.

* If both Assertion and Reason are true and Reason is  [B] If both Assertion and Reason are true but Reason is
[A] the correct explanation of Assertion not the correct explanation of Assertion

[C] If Assertion is true but Reason is false [D] If both Assertion and Reason are false

(15) When monochromatic light falls on a photosensitive material, the number of photoelectron emitted per second is n
and their maximum kinetic energy is Kyax. If the intensity of incident light is doubled, then

(Al n is doubled but K55 remains same [B] Kmax is double but n remains same

[C] Both nand K54 are doubled [D] Both nand K, are halved

(16) A bar magnet with magnetic moment 2.5 x 103 T Lis rotating in horizontal plane in the space containing magnetic

induction B =4 x 10™ T. The work done in rotating the magnet slowly from a direction parallel to the field to a
direction 45° from the field, is (in joule)

[A] 0.0 [8] 0.2

*
0.03 [D] 0.02
[cl]
(17) For a parallel beam of monochromatic light of wavelength A diffraction is produced by a single slit whose width a is
of the order of the wavelength of the light. If D is the distance of the screen from the slit, the width of the central
maxima will be

[*A] 2D [8] 24
[c] 22 [D] 2Da
A A

(18) A total charge of 5 p Cis distributed uniformly on the surface of the thin walled semispherical cup. If the electric field

strength at the centre of the hemisphere is 9 x 108 NC1, then the radius of the cup is
Y

L =0x10°C* |

4, )

*

Al 5mm [B] 10 mm

[C] 5cm [D] 10cm
(19) The necessary condition in making of a junction transistor (.E—emitter, B—base and C—collector)

* Eis heavily doped, B is thin and lightly doped and C is

[A] E and B are lightly doped and C is heavily doped [B] moderately doped

[C] Eand Care lightly doped and B is thick and heavily

doped [D] E and B are heavily doped and Cis lightly doped



(20) An electron in a circular orbit of radius 0.05 nm performs 101° revolutions per second. The magnetic moment due to
this rotation of electron is (in Am? ).

[A] 2.16 x 10723 [B] 3.21 x 10722

*

[C] 3.21x107%4 1.26 x 10723
[D]

(21) The quantities A and Bare related by the relation, m = A/B, where m is the linear density and A is the force. The
dimensions of B are of

£ 3
[A] pressure latent heat

[B]
[C] work [D] None of these

(22) The ionisation energy of hydrogen is 13.6 eV. The energy of the photon released when an electron jumps from the
first excited state (n = 2) to the ground state of hydrogen atom is

[A] 3.4eV [B] 4.53 eV

*
10.2 eV [D] 13.6 eV
[c]

(23) A bubble is at the bottom of the lake of depth h. As the bubble comes to sea level, its radius increases three times. If
atmospheric pressure is equal to Imetre of water column, then h is equal to

*
261/ [B] /
[A]
[C] 251 [D] 30/
(24) A truck accelerates from speed v to 2v. Work done in during this is

* three times as the work done in accelerating it from  [B] same as the work done in accelerating it from rest to
[A] resttov v

[C] four times as the work done in accelerating it from  [D] less than the work done in accelerating if from rest
resttov tov

(25) For the action of a Common Base (CB) transistor, (E = emitter, B = base, C = collector) the required CB, EB junction
bias conditions are

[A] Both EB and CB junction forward bias [B] Both EB and CB junction reverse bias

*

[l EB junction forward bias, CB junction reverse bias [D] EB junction reverse bias, CB junction forward bias

(26) Consider two particles of different masses. In which of the following situations the heavier of the two particles will
have smaller de—Broglie wavelength?

[A] Both have a free fall through the same height [B] Both move with the same kinetic energy

*
[C] Both move with the same linear momentum Both move with the same speed

[D]
(27) A particle moves along with X—axis. The position x of particle with respect to time t from origin given by x = bg , bt +
b2t2. The acceleration of particle is
[A] bg [B] by
*

b b
[C] b2 (D] 2b;



(28) Two parallel beams of positron moving in the same direction will

[A] not interact with each other [B] repel each other
" -
attract each other [D] be deflected normal to the plane containing two
[C] beams
(29) For the radioactive nuclei that undergo either a or B decay, which one of the following cannot occur?
*
[A] Isobar of original nucleus is produced [B] Isotope of the original nucleus is produced
[C] Nuclei with higher atomic number than that of the ~ [D] Nuclei with lower atomic number than that of the
original nucleus is produced original nucleus is produced

(30) The concentric spheres of radii R and r have positive charges q; and g, with equal surface charge densities. What is
the electric potential at their common centre?

* SR+ Bl ®(r_p)

[A]l & €

[c] E[L,E) [D] z[i)
g, R r €y R

(31) A sphere of 4 cm radius is suspended with in a hollow sphere of 6 cm radius. If the inner sphere is charged to a
potential 3 esu while the outer sphere is earthed, then the charge on the inner sphere will be

[A] % esu [B] 30 esu
[*C] 36 esu [D] 54 esu

(32) An artificial satellite moves in a circular orbit around the earth. Total energy of the satellite is given by E. The
potential energy of the satellite is

*

-2E 2E
(A] !
[c] 2B [p] _2E
3 3

(33) Maximum kinetic energy of electrons emitted in photoelectric effect increases when

[A] intensity of light is increased [B] light source is brought nearer the metal
*
[l frequency of light is decreased [D] wavelength of light is decreased
(34) Two metal spheres of radii 0.01 m and 0.02 m are given a charge of 15 mC and 45 mC, respectively. They are then
connected by a wire. The final charge on the first sphere is ... x 1073 cC.
[A] 40 [B] 30
*
20 [D] 10
[C]
(35) If ny,n; and n3 are fundamental frequencies of three segments into which a string is divided, then the original
fundamental frequency n of the string is given by

[Al n n, n, n, JH \/r: \/11_2 \/11_3
[C] (=ﬁ+\[11_2+ n, [D] D=0, +n, +n,




(36) Four identical cells of emfe and internal resistance r are to be connected in series. Suppose, if one of the cell is
connected wrongly, then the equivalent emf and effective internal resistance of the combination is

*

2E and 4r [B] 4E and 4r
(Al

[C] 2E and 2r [D] 4E and 2r

(37) A beam of light is incident on a glass slab (i = 1.54) in a direction as shown in the figure. The reflected light is
analysed by a polaroid prism. On rotating the Polaroid, (tan 57° = 1.54)

A B
i 2 Glass slab
[A] the intensity remains unchanged [B] the intensity is reduced to zero and remains at zero

* the intensity gradually reduced to zero and then

[C] again increases [D] the intensity increase continuously

(38) Following figures show the arrangement of bar magnets in different configurations. Each magnet has magnetic dipole
moment m. Which canfisiiratinn hac hichest net masnetic dinnle mament?

\\ » double the
[C] 8nrio

(40) Two wires of : ictively to
produces equ

[A] 1:1
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)

[A] [N

(39) Under isothet
radius of the

*

16m rlo
[A]

(41) |nitial speed of an e particle inside a tube of length 4mis 1 kms?, it is 1 kms™2, if it is acceleration in the tube and
comes out with a speed of 9 kms™L, then the time for which the particle remains inside the tube is

*

[A] 8x103s ] &~ 10%s
[C] 80x 1073 [D] 800x 103 s
(42) A millivoltmeter of 25 mV range is to be converted into an ammeter of 25 A range. The value (in ohm) of necessary
shunt will be
*
(Al 0.001 [B] 0.01

[c 1 [D] 0.05



(43) There is some change in length when a 33000 N tensile force is applied on a steel rod of area of cross—section 1073
m~2. The change of temperature required to produce the same elongation, if the steel rod is heated is (The modulus
of elasticity is 3 X 1011 Nm~2 and coefficient of linear expansion of steel is 1.1 X 107 12C).

[A] 20°C [B] 15°C
*
10°C [D] 0°C
[c]
(44) For most of the material, Young's modulus (Y) and rigidity modulus (G) are related as

A] G =3Y F o=t

[A] G= 3] 73

€ 6=y o] - Y

2 8

(45) An ideal monoatomic gas is taken through the thermodynamic states A - B - C = D via the paths shown in the
figure. If Uy Ug U.and Up represent the internal energy of the gas in states A, B, C and D respectively, then which of
the following is not true?

% ’
Tempen:
[A] Ua=Up
[C] Ug= Ug
Q-3. CHEMISTRY-(
(46) Guigret's gree
[A] NiO - 2H

- ASHADEEP HT

(47) Product form:

7 JEE | NEET | FOUNDATION

[A] 0O B * I Br
O " OO
[c] 'i|>
Qc@m [D] Productsin (a) and (b)

(48) Osmosis results from

*

Al an increase in entropy [B] a decrease in entropy

[C] adecrease in enthalpy [D] adecrease in internal energy



(49) In E1—CB reaction, intermediate is

*  H,C o [B] HiC\ o CH,4
[A] e H,C C_CI B
r
H,C 3 CH,
o [D] HiC\ o CH,
[€] cH,CcH,CHCH, >C—CH<
H,C CH,
(50) Mercurous chloride, Hg,Cl,(s), in saturated solution exists as mercurous ion and chloride ion. Hence, equilibrium
constant is
[Hg*T2IC]? [B] [Hg; JCI'T
[A]
[C] [Hg™[CIm] [D] None of these
(51) By annealing, steel
[A] becomes soft [B] becomes liquid

becomes

[c]

(52) Bond order o
[A] O] < O:
[c] O; <0,
(53) According to |
*
(A] 0F is par than 02
[C] 0Fis diar re than 02

(54) Consider the-

~ ASHADEEP T
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I1l. E2 mechanism
IV. Most stable carbocation forms

[A] 1,1 [B] I, 1L, 1l

*
[c v L, v
[D]
(55) For which of the following reactions will the equilibrium mixture contain an appreciable concentration of both
reactants and products ?

[Al CL(g)==2Cl(g), K, =6.4x107 [B] CL,(2)+2NO(g)—=2NOCl(g), K_ =3.7x10°

*
[C] Cl,(g)+2NO,(g)=——=2NO.,Cl(g). K_=1.8 0] All of the above




(56) ZnCOs3 is thermally more stable than MgCO3, because

[A] Mg(OH), exhibits only basic properties while
Zn(OH), is amphoteric

*
Both [A] and [B] are correct

[B] polarising action of Zn2* with 18—electron
configuration on the anion is larger than that of

Mg2+ with a noble—gas electron configuration and of
same size and charge

[D] None of the above

[c]
(57) Select the correct matching for 3d orbital.

[A] [B]
n |/ |Angular nodes Radial nodes n |/ |Angular nodes Radial nodes
3 12 |2 1 3 12 |2 0

* [D]

[Cl|n |/ [Angular nodes Radial nodes | n ‘ / |Angu|ar nodes Radial nodes
3 |2

(58) Which of the

I. The rate of
Il. The nucleo
IIl. The reactir
IV. Partial race

[A] I, IV
[c1 u,m

(59) Four metals a
refining, Mon

* Ni: Elect

[A] refining,

[c] Ni:Mon
refining,

(60) Which is the |

JEE | NEET |

CN™,NO;
[A]

[C] NO;.NO;

(61) Enzymes functions as catalysts by

[A] changing the value of the free energy change to ¢ a
more favourable value

*
[l lowering the value of the activation energy
(62) A competitive inhibitor of an enzyme acts by

* modifying one of the amino acid residues of the
[A] enzyme

[C] competing with the substrate to bind to the active
site of the enzyme

.ess, Zone
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[B] NO;,CNS

[D] NCS,C,07

[B] changing the value of the equilibrium constant to a
more favourable value

[D] increasing the amount of time needed to reach
equilibrium

[B] modifying structure of the substrate

[D] Increasing temperature of the reaction mixture




(63) Predominant product in the following addition reaction is

@ -
* H B] H
[A] (;]X
Cl 1
[C] cl [D]
Cl

(64) Consider following transformations
I: XeF, + NaF—— Na'[XeF. |

I: 2PCL, (5)— [PCL I [PCLT
OI: [Al(H,0, )" +H,0—— [AI(H,0,0HF* +H,0"

Possible transformations are
[A] 1, 11,111

[c .
(65) Which combil
correctly?

[A]

Vapour

high

[cl

is matched
rces  |AHy5p
small

Vapour rces  |AHy5p

-~ ASHADEEP lIT—

(66) In the followi
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/ ALEY)
—_—

{iii) KMnO4/OH™

{iv) HY

[A]  cooH * OH
OH [B] Hj

[cl 00H [D] ©H



(67) The percentage yield of reaction can be described as the......... times 100%.

[A] amount of product you could make if the reaction

. [B] total amount of materials involved in a reaction
went to completion

* amount of desired product divided by the amount of [D] amount of product obtained divided by the
[€] unwanted product maximum possible amount of product

(68) The critical temperature of water is higher than that of because the H,O molecule has
fewer electron than O, [B] two covalent bonds

[C] V-shape [D] dipole moment

(69) A certain amount of a metal whose equivalent mass is 28 g mol ™1 displaces 0.7 L of H, at STP from an acid. Hence,

mass of the element is

*

[A] 1.75¢ [B] 0.875¢

[C] 3.50¢ [D] 7.00gQ
[C] No optic

(70) In the reactio
\\ so have facial
[Co(en),!

"5 ASHADEEP IIT
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[A] 1.0 mol:
*
all the ox
(71) Select correct

[A] Geomet
and visib

[A] phenol [B] benzene

[*C] p—hydroxyazobenzene [D] benzonitrile
(74) The Sl unit of electrical resistance is ohm which is defined as

[A] 10hm =1VA [*31 1 ohm =1VA

[C] 1ohm=1WA [D] 10hm=1wA™

(75) 1 mol each of A and B and 3 mol each of C and D are placed in 1 L flask, if equilibrium constant is 2.25 for

A+ B =€+ D, equilibrium concentrations of A and C will be in the ratio
*
2:3 [B] 3:2
[A]

[c]1:2 D] 2:1



(76) Which of the following is potassium ferricyanide?
[A] Ks[Fe(CN)g)] [B] K3[Fe(CN)g]

*
a K3[Fe(CN)s] [D] K3[Fe(CN)4]
(77) The wavelength associated with a golf ball weighing 200 g and moving at a speed of 5 m/h is of the order

(Al 1010 m [B] 10 m

[C] 103%m [D] 109 m

(78) Equal weights of HF, HCI, HBr and HI at 87°C and 750 mm Hg pressure are taken. The correct sequence of these gases
in the increasing order of their volume is

[A] HF <HCI < HBr<HI [B] HI <HBr<HCI<HF

*
[c] HBr < HI< HF < HCI [D] HCl < HBr<HI<HF

(79) Which of the following dibasic acids shows geometrical isomerism?
[A] Hyponiti

*

Both [A]
[C]
(80) Rutherford's ¢
* B —partic il and ejected
[A] absorbec
[C] helium a 1etal foil and
got scatts
(81) Trans—3—metl
*
E
[A]

- ASHADEEP T
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(83) Transition elements have vacant

[A] s—orbitals [B] p—orbitals

*

a d—orbitals [D] f-orbitals
(84) When Cl, is passed into moist slaked lime, compound formed is

*
Ca0O,(Cl B] CaO,Cl
Al 2Cly [B] 2

[C] CaOCIZ [D] CaCI204



(85) The number of unpaired electrons in the complex ion [C0F6]3_ is (At. no. of Co = 27)

[A] four [B] zero
*
[C] two three
[D]
(86) Select the correct statement(s).
[A] The presence of a hydroxyl group on the benzene *  The presence of a cyano group on the benzene ring
ring in phenol stabilises the arenium cation through  [B] in benzonitrile destabilises the arenium cation
delocalisation relative to that from benzene itself

[C] Electron—donating groups are usually activating

[D] All of the above statements are correct
groups

(87) Which one of the following pairs of substances will not produce hydrogen when reacted together?

*

(Al Copper and cone, nitric acid [B] Ethanol and metallic sodium

[C] Magnesium and steam [D] Phenol and metallic sodium

(88) Glacial phosphoric acid is

[A] HPO3 [B] H3PO;3
¥ H3PO H4P,0
3P0y [D] H4P207
[c]
(89) Cationic polymerisation of styrene forming polystyrene always takes place
*
[A] head-to-tail [B] head—to—head

[D] anionic polymerisation and not cationic

il-to—tail
[C] tail-to-tai polymerisation (head—to—tail) takes place

(90) The oxide which is not a reducing agent is

[A] CO; [B] NIO;
"
[C] SOZ [D] C02

Q-5. BIOLOGY-CHOOSE THE CORRECT ANSWER FROM THE GIVEN OPTIONS.

(91) Which of the following statement is incorrect :-

*  During DNA-replication, deoxyribonucleotide [B] DNA-dependent -DNA polymerase catalyse the
[A] triphosphate serve dual purposes polymerisation only in one direction i.e., 5'-3'

[C] Afaliure in cell division after DNA replication resluts

D i 6
into polyploidy [D] In DNA of E.coli only 4.6 x 10°bp are present
(92) Which of the following is not a characteristic of phylum mollusca ?

*
[A] True body cavity Metameristem

(B]
[C] Organ system level of organisation [D] Bilaterally symmetrical
(93) In which type of virus, rate of evolution is faster as compare to other :-

[A] DNA genome and longer life span [B] RNA genome and longer life span

*
[C] DNA genome and shorter life span RNA genome and shorter life span

[D]



(94) The members of phylum Aschelminthes are called round worms, having mumerousdistinguishiable character, but
which of the following can not be considered as their character ?

[A] These are pseudocoelomate animals [B] They are bilaterally symmetrical

£ 3
[C] Organ system level of body organisation Round worms are monoecious

[D]

(95) Which of the following is correct about natural killer cells :- (i) Produced in bone marrow (ii) Contain perforin protein
(iii) Large agranular lymphocyte (iv) Non specific in function (v) Phagocytosis

[A] i, ii, iv, v [B] i, iii, v
*
[c] iii, v i, i, iv
[D]
(96) Which of the following condition regulate the expression of gene ?
[A] Metaboilc [B] Environmental
*
[C] Physiological 0] All the above
(97) Which statements is incorrect.
* In breeding allows the desirable qualities of two [B] Bee wax is used in the preparation of cosmetics and
[A] different breeds to be combined. polishes of various kinds.

[C] Fisheryis an industry devoted to the catching
processing or selling of fish, shellfish or other aquatic [D] None of the above
animals.

(98) In roots, the cells of the eumeristem form a mass of small tissue called calyptrogen. It is also meristematic and gives

rise to the :-
[A] Epidermis [B] Cortex
*
[C] Xylem and phloem D] Root cap
(99) The labelled A, B, C respectively represent :-
* A - Connective tissue, B - Endothecium, C - Pollen [B] A - Endothecium, B - Connective tissue, C - Pollen
[A] grain grain
[C] A - Pollen grain, B - Connective tissue, C - [D] A - Endothecium, B - Pollen grain, C - Connective
Endothecium tissue

(100) Life cannot originate from inorganic materials ar present because :-

[A] High degree or pollution [B] High amount of hydrogen
*
[l High amount of oxygen [D] High temperature
(101) How many fishes in the list given below are marine ?Catla, Silver carp, Hilsa, Rohu, Mackerel, Salmon
[A] Six [B] Three

[*C] Four [D] Five



(102) Which of the following statements is wrong ?

[A] Intercellular material of cartilage is solid [B] The bone cells are present in the lacunae

[€] Communication junctions are present in cardiac *

Bone has pliable ground substance
muscles [D]

(103) During evolution the first living being were prokaryotic cell, like

*

Al Bacteria [B] Virus
[C] B. G Algae [D] Actinomycetes
(104) Reticulate vention, unisexual flowers are found in which monocot :-
[A] Dracaena [B] Yucca
*
Smilax [D] Allium

[c]
(105) Breeding of crops with levels of minerals, vitamins and protein is called

[A] Micro propagation [B] Somatic hybridisation

Bio fortification [D] Bio magnification

*
[cl
(106) How many of the following is completely reabsorbed by PCT ? Glucose, Aminoacids, Glycine, HCO™3, Urea

[A] One [B] Two

[C]

(107) Read the following events of cell division (A) Separation of sister chromatids (B) Duplication of centriole (C)
Condensation of chromatin (D) Protein synthesis (E) Assembly of mitotic spindle (F) Centrole move to pole Which of
the above events in suit for interphase, anaphase and prophase

Three [D] Four

[A] *
Interphase Anaphase Prophase [B] | Interphase Anaphase Prophase
B,D A F CE B,D A CE,F
[c] [D]
Interphase Anaphase Prophase Interphase Anaphase Prophase
D B, F AEC A E CF B,D

(108) Large holes in swiss cheese are due production of a large amount of CO2 by a bacterium is :

[A] Lactobacillumlactis [B] Clostridium butylicum

*
Propionibacteriumsharmanii

[C]

(109) Monoecious plants prevent :-

[D] Mycobacterium laprae

[A] Autogamy and geitonogamy [B] Geitonogamy and xenogamy

*

[C] Geiotnogamy, xenogamy and autogamy ] Only autogamy



(110) How many statements are correct :- (a) Eutrophication is a natural again of lake (b) Human can accelerate the
process of eutrophication (c) A scrubber can be used to reduce the accelerated-eutrophication process (d) To
reduce the eutrophication, water (prevention & control) act 1974 is also helpful.

[A] a,b, ¢, d [B] a, b, c
*
a,b,d [D] Onlya

[C]
(111) Match the items in column-I with those in column-Il and find out the correct answer ?

Column - | Column -li

A. Leydig cells (i) Fructose

B. Sertoli cells (ii) Present only in male mammal

C. Seminal vesicle (iii) Nutrition to gern cells

D. Cowper's gland (iv) Androgens

E. Prostate gland (v) Lubrication of penis

[A] A- (iv)l B - ("I)I C- (I)I D- (V)I E- (”) [B] A- (iv)l B- (III)I C- (V)I D - (I)I E- (")

[C] A-(iv), B- (i), C-(iii), D - (ii), E - (v) [D] A-(ii), B - (iii), C- (v), D - (iv), E - (i)
(112) Which of the following technique is not suitable for dectection of bones :-

[A] X-ray [B] MRI

*

[C] Sonography 0] (A) & (B) both
(113) Adnation is seen in the members of Solanaceae, Malvaceae between :-

[A] Sepals & Petals [B] Sepals & Stamens

*

] Petals & Stamens [D] Petals & Carpels

(114) In animal cells steriodal hormones are synthesised in :-

*

[A] Golgi apparatus SER
[B]

[C] Mitochondria [D] Nucleus

(115) In case of inheritance of single gene Mendel found that :-

[A] F1-sometime resembled either one of parents " F1 - always resembled either one of the parents

[C] F1 - always resembled both parents [D] None of these

(116) How many of the following are not bacterial diseases :-
(a) Diphthrea
(b) Measles
(c) Typhoid
(d) Filariasis
(e) Pertussis
(f) Tetanus

[A] Four [B] Three

[*C] Two [D] One



(117) Axillary buds are derived from

*
[A] Intercalary meristem Apical meristem

(B]
[C] Lateral meristem [D] Intrafacicular cambium

(118) Select the correct statement from the following regarding cell membrane

[A] Na*ions move across cell membrane by passive

[B] Proteins make up 80 to 90 % of the cell membrane
transport only

[C] Fluid mosaic model of cell membrane was proposed *  Fluid nature of cell membrane is important for
by Davson and Danielli [D] formation of inter cellular junction

(119) Select true statement for F2 generation of dihybrid cross :-

[A] Four types of offsprings are formedin1:1:1:1

. [B] 62.5 % new combination
ratio

[C] Phenotypic ratio of one pair of contrasting traitis9: *

o, . .
3:3:1 D] 37.5 % new combination

(120) How many of the following are necessary for achieving good health :- (a) Awareness about diseases (b) Vaccination
(c) Proper disposal of wastes (d) Control of vectors (e) Reduces infant and maternal mortality (f) Economic

prosperity
[A] a,b,d, e [B] b,c, e, f
*

a,b,cd [D] e, fonly
[c]

(121) To evolve pureline in animal s which breeding method is required ?
*

[A] Cross-breeding [B] In-breeding
[C] Out- breeding [D] Interspecific hybridisation

(122) During the processing of the prohormone ‘Proinsulin’ in to mature “Insulin” :-

*
[A] C - peptide is added to proinsulin C - peptide is removed from proinsulin

(B]
[C] B - Peptide is added to proinsulin [D] B - Peptide is removed from proinsulin

(123) Active transport is similar to ficilated transport but differ from simple diffusion in having :-
(a) Uphill transport
(b) Selective nature of transport
(c) Transport saturation
(d) Requirement of ATP energy
Choose the correct option :-

[A] (a), (b), (c) and (d) (6] (b) and (c)

[C] (a) and (d) [D] (a), (b) and (c)
(124) In Human body nails are example of :-

[A] Vestigal organ [B] Homologous organ

[C] Analogous organ ¥ None of them

(D]



(125) How many statements are correct :- (a) Vertical distribution of different species occupying different levels is called
stratification (b) The rate of biomass production is called productivity (c) Detritus is raw material for the process in
which decomposess break down complex organic matter into simple organic, inorganic substances like CO2 , H20
etc. (d) Decomposition rate is slower when detritus is rich in lignin and chitin.

[A] Three [B] Two
*
[C] One 0] Four
(126) A partially developed male gametophyte of angiosperm is :-
[A] Mature pollen grain [B] 2 celled 2 nucleated pollen grain
[C] 3 celled 3 nucleated pollen grain [*D] Both1 & 2

(127) Read the following four (A-D) statements. (A) Chest expands because air enters into the lungs. (B) Air enters into the
lungs because chest expands. (C) The muscles of the diaphragm contracts because air enters in the lungs. (D) A
Healty human breathes 12-16 times/minutes. How many of the above statements are incorrect.

[A] Four [B] Three
*
[c] Two [D] One
ree of the following statements are correct while one is incorrect. Which one is incorrect *
(128) Th f the followi hil isi Which isi ?
[A] Animal cells contain non-membrane bound * Several ribosomes may attach to a single r-RNA and
organelles which help in cell division [B] from a chain called polyribosomes

[C] Inacrocentric chromosomes the centromere is
situated close to its end forming one extremely
short and one very long arm

[D] Arrangement of axonemalmicrotubuls in cilia is
refferred to as the 9 + 2 array

(129) Which of the following is of gametophytic generation in Gymnosperm, but not in angiosperm

*
[A] Endosperm [B] Embryo sac
[C] Eggcell [D] Pollen grain

(130) (i) Promote nutrient mobilisation (ii) Overcome the apical dominance (iii) Lateral shoot growth All the above
physiological effects are related to which of the following plant growth regulators ?

[A] Auxins [B] Gibberellins

*
[C] Abscisic acid [D] Cytokinins
(131) In the given diagram identify A, B, C and D. respectively and choose the correct option out of 1, 2, 3, and 4.

i A-Fertilizatio, B- Mitosis, C- Implantation, D- Uterus [B] A-Implantation, B- Meiosis I, C- Fertilization, D-
[A] ’ ’ ’ Uterus

[D] A- Mitosis, B- Fertilization, C- Implantation, D-

[C] A-Fertilizatio, B- Implantation, C- Mitosis, D- Uterus
Uterus



(132) In Gymnosperm, the endosperm is formed by the :-

[A] Fusion of one male gamete with egg nuclei [B] Fusion of one male gamete with polar nuclei

*
[C] Germination of microspore [D] Germination of megaspore

(133) When the ovary/gynoecium is present at the top most position of the thalamus, then the flower is known as :-

A] Epigynous B] Perigynous
[A]
*
[c] Hypogynous [D] Inferior
(134) Which statement is true for sickle cell anaemia :
[A] Substitution of glutamic acid by phenyl alenine [B] Sex linked recessive disorder
*
[c] Autosomal linked recessive disorder [D] Chromosomal disorder

(135) Which of the following factor affect Hardy - Weinberg equilibrium ?

[A] Genetic drift [B] Natural Selection
[C] Gene Flow [*D] All the above
(136) Match the items in column - | with column - Il and choose the correct options :-
Column - | Column - 1l
(A) Tidal volume (i) 2500 to 3000 ml Air
(B) IRV (i) 1000 ml Air
(C) ERV (iii) 500 ml Air
(D) RV (iv) 3400 to 4800 ml Air
(E) VvC (v) 1200 ml Air
*
[A] A-llI, B-1V, C-ll, D-I, E-V [B] A-lll, B-I, C-II, D-V, E-IV
[C] A-lll, B-l, C-IV, D-V, E-IV [D] A-lV, B-lll, C-Il, D-1, E-V
(137) In wheat plant chromosome numbers is 6n = 42. What will be the chromosome number is haploid and monoploid
[A] 21,21 [B] 21,42
*
[C] 21,14 [D] 21,7

(138) The cell wall of a young plant cell, the..... “A” .....is capable of growth, which gradually diminshes as the cell mature
and the.... “B”.... is formed on the inner side of the cell. Choose the correct word for “A” and “B” respectively

*
[A] Secondary wall, tertiary wall Primary wall, secondary wall

(B]
[C] Secondary wall, primary wall [D] Tertiary wall, secondary wall
(139) Nerve which control movement of pharynx and larynx originate from :-
[A] Mid brain [B] Pons

*

a Medulla oblongata [D] Cerebellum



(140) Which of the following micronutrients is an important constitutent of proteins involved in the transfer of electrons
and is required in larger amount in comparison to other micronutrients

*

[A] Iron [B] Molybdenum )
[C] Manganese [D] Zinc

(141) The allogamy is best favoured by :-

*
[A] Dichogamy [B] Cleistogamy

[C] Monocliny [D] Homogamy

(142) How many statements are incorrect :- (a) Removal of 80 % tigers from an area results in increased population of
deers (b) The length of food chain is generally limited to 3-4 trophic level due to energy loss. (c) Carbon constitutes

49 % of dry weight of organisms. (d) 4 x 1013kg of carbon is fixed in biosphere through photosynthesis anually :-

[A] Two [B] Three
*
one D
g N [D] All
(143) 2NH; + 30, 2NO_, + 2H* + 2H,0 During nitrogen cycle, above process is performed by which of the following
microbes ?
[A] Nitrosomonas or Nitrobacter [B] Pseudomonas and Thiobacillus
*
[c] Nitrococcus or Nitrosomonas [D] Rhizobium and Frankia

(144) Exocoetus, Bufoand salamenderon one hand and Elephas, Psittaculaand ornithorynchuson the other differ in the
following ?

* The body temperature of the former changes with  [B] The former have pronephric kidney, The latter have

[A] environmental temperature of the lattter remains metanephric kidney, The latter have metanephrous
more or less constant. kidney.
[C] Both (A) and (B) [D] The former are oviparous, the latter are viviparous

(145) Which fungus is used extensively in bio-chemical and genetic work ?

[A] E.coli [B] Puccinia
[*C] Neurospora [D] (A)and (C) both
(146) Jaundice is characteristic by the rise of blood level of :- /
[A] Bile salt [*B] Bile pigments
[C] Bile juice [D] Stercobilin

(147) Select false statement for imdependent assortment :-

[B] During anaphase of meiosis - | the two chromosome
pairs can align at the metaphase plate
independently of each other

[A] Segregation of one pair of unit factor is independent
of the other pair of unit factor

* Due to independent assortment a dihybrid produce [D] Different characters should be located on different
[C] 4 types of gametes in the ratioof9:3:3:1 pair of chromosome

(148) Which of the following bone is formed by modification of hyomandibular bone of jaw :-

*
[A] Malleus Stapes
[B]

[C] Incus [D] None of the above



(149) Select correct statement :-

[A] Alleles show blending at F, Dom_mance also explains the proportionof 3:1
[B] obtained at the F2
[C] Recessive trait is seen due to functional enzyme [D] Unmodified allele produces non functional enzyme
(150) What is true about Struthio, Duck-billed platypus and Gavalius ?

[A] Four - Chambered heart [B] Oviparous

*
[C] 12 pairs of cranial nerve 0] All of these

(151) Finches of darwin show which type of evolution :-

[A] Convergent evolution [B] Adaptive convergence
*
[l Divergent evolution [D] Analogous organ
(152) The heavy DNA of E.coli. replicates in N14 medium. After how much time we got equal amount of hygrid DNA and
light DNA :-
*
[A] 20 Minutes (8] 40 Minutes
[C] 60 Minutes [D] 80 Minutes

(153) Which of the following character is studied by Mendel in plant ?

*
Fruit colour [B] Arrangement of flower

[C] Seed coat colour [D] All the abovev

(154) Which of the following is not a characteristic of all division of vascular plants

*

(A]

Presence of Antheridia and Archegonia [B] Alternation of generation

[D] Xylem and phloem for transporting materials

[C] Differentiation in to roots, stem and leaves
between roots and leaves

(157) Match the following :-

A. Liver a. Bile storage * A-c, B-a, C-b, D-d [B] A-d, B-b, C-a, D-c
[A]

[C] A-a, B-c, C-b, D-d [D] A-b, B-a, C-c, D-d

B. Gall bladder | b. Purine

C. Uric acid c. Hepatic lobule

D. Pancreas d. Duct of santorini

(158) Which of the following statements in not true :-

[A] The partial pressure of O, in deoxygenated blood is

[B] The PO, in oxygenated blood is 95 mm Hg.
40 mm Hg.

*
[C] The PO, in alveolar air is 104 mm Hg. (D] The PCO, is deoxygenated is 95 mm Hg.

(159) The electrons, that are removed from photosystem - Il and photosystem - | during z-schene, must be replaced. This
is achieved by electrons available respectively.

[A] By photosystem-I and NADP* [B] By splitting of water and NADPH

E3
[C] By ATP and photosystem - I 0] By splitting of water and photosystem-l|



(160) Which of the following disorder is mainly determined by alteration in the single gene ?

*
[A] Chromosomal disorder [B] Mendelian disorder

[C] Down's syndrome [D] Turner syndrome

(161) After invitro fertilization :

*  Embryowith more than 8 cells are implanted in [B] Embryo with more than 16 cells are not implanted
[A] uterus in uterus

[D] Embryo with cells more than 16 is implanted in

[C] Embryo with 8-16 cells can be implanted in uterus
uterus

(162) The living differentiated cell, which has lost the capacity to divide, can regain capacity of division under certain /
condition. This phenomenon is called

*
[A] Dedifferentiation [B] Differentiation
[C] Redifferentiation [D] None of these

(163) Which statement is correct regarding human fossils :-

[A] Fossils of homo neanderthalensis is obtain recently * Neanderthal &cro-magnon man lived together for
from South Africa [B] sometime on the earth

[C] Fossils of Austrapithecus are obtain from Australia  [D] Homo erectus erectus evolved before homohabilies
(164) Which one of the following features is not applicable to all the three worms - Taenia, Ascaris and Planaria ?

[A] Triploblastic forms [B] Absence of metamerism
%

[C] Parasitism [D] Absence of definite circulatory and respiratory

(165) (a) Pyramid of number deals with number of species in an particular area (b) Nutrient conservation is increased
during succession. (c) Energy transfered from sun to producerss 1 to 5 % (d) Vegetation of biome is decided by
climate Which is/are correct ?

[A] Onlya [B] a,b
*
[C] a, b, c D] a,b,cd
opulation density refers to :-
(166) Population densi f
*
A] Presence of many species in a unit area opulation size of an organism
p ¢ oo , . Population size of .
[C] Composition of community [D] All of the above

(167) Which one of the statements is incorrect ?

[A] Factors for blood clotting present in blood plasma

found in an inactive form [B] Plasma without clotting factor is called serum

*  Neutrophil are the most and eosinophils are the

[C] Basophils are involved in inflammotory reactions
[D] least among leucocytes

(168) How many light polypeptide chains are present in IgA :-

*

[A] Four [B] Two

[C] Ten [D] Five
(169) Sexual reproduction in fungi may occur by means of :-

[A] Sporangiospore, Oospore and Ascopore [B] Zoospore, Oospore and Ascospore

*
[C] Sporangiospore, Ascospore and basidiospore [D] Oospore, Ascopore and Basidiospore



(170) Wild population of plant and animals and traditional life styles of tribals are protected in :

*

Al Biosphere Reserve [B] Sanctuary

[C] National Park [D] None of these

(171) Which of the following represent hemizygouscondition ?

[A] X2Y in human male [B] X*Oin grass hopper
* /
[C] XY*W in female bird (D] All the above
(172) Which of the following statement is false :-
[A] In adult women, hypothyriodism may cause [B] The thyroid gland is composed of follicles and
menstrual cycle to become irregular. stromal tissues

*  Due to cancer of the thyroid gland or due to

[D] development of nodules of thyroid gland, the rate of
synthesis and secretion of the thyroid hormones
decrease

[C] Melatonin also influences metabolism,
pigmentation, menstrual cycle as well as defence
capability.

(173) Which of the following statements is correct ?

* Hormone releasing I.U.D. make uterus unsuitable for [B] IUD is the only method of contraceptives for the
[A] implantation female who want to delay pregnancy

[C] UD is most widely accepted method of

contraception in world [D] All the above

(174) The number of CO, molecules released during conversion of pyruvic acid to acetyl CoA, is :-

*  More than CO, released during glycolysis but less
[B] than the CO, released during both glycolysis and
Krebs cycle

[A] Less than the CO, released during glycolysis but
more than the CO, released during Krebs cycle

[C] More than the CO, released during both glycolysis  [D] Equal to the CO, released during both glycolysis and
and Krebs cycle Krebs cycle

(175) Choose the correct statements :

[A] E.coli show amphitrichous nature [B] Rhodospirillum is a example of Purple Sulphur

bacteria
*  Acetobacteraceti is a example of Facultative [D] Nitrosomonas and Nitrobacter are example of
[C] anerobic Nitrogen fixation bacteria
(176) Which of the following is correct statement
* o . . [B] In earthworms, pharngealnephridia present from
Earthworms lack specialiced breathing devices rd
[A] 3™ to last segment

[C] In cockroach, malpighian tubules are present at

junction of fore gut and midgut [D] Cockroaches are hermaphrodite

(177) Which of the following method of concentraception is highly effective but having poor reversibility :-

*

] Sterilisation [B] Oral pills
[C] IUD [D] Barrier methods
(178) In some halophytes, seeds germinates within fruits, while attached to the parent plant. This phenomenon is :-
[A] Helophytosis [B] Vernalization
*
[C] Seed dormancy Vivipary

[D]



(179) Pteridophytes life as compared to bryophyta in having :-

[A] Roots and nonmotile gametes [B] Roots and independent gametophyte

*
[C] Leaves 0] Roots and vascular tissue

(180) How many statement are correct :- (a) Predator also help in maintaining species diversity in community. (b)
Decomposition is largely in GFC is never restricted (c) Number of trophic levels in GFC is never restricted (d) Some
organism of DFC are prey to GFC animals.

[A] a,b,c,d [B] a, b, c

*
a,b,d [D] b,c,d
[c]



